LAMPIRAN

Lampiran 1. Perhitungan pembuatan larutan standar

= Larutan induk etanol 1% (v/v)
VixXM1=V2 XM2
V1x96% =50mL X 1%
V1=10.52mL

= Larutan standar 0,1% (v/v)
V1iXM1=V2 X M2
V1Xx 1% = 25mL X 0,1%
V1=25mL

= Larutan standar 0,2% (v/v)
VixXM1=V2 XM2
V1X 1% = 25mL X 0,2%
V1 =5mL

= Larutan standar 0,3% (v/v)
VixXxM1=V2 X M2
V1x 1% = 25mL X 0,3%
V1=75mL

= Larutan standar 0,4% (v/v)
VIXM1=V2 x M2
V1X 1% = 25mL X 0,4%

Vl1=10mL
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Larutan standar 0,5% (v/v)
ViXM1=V2 XM2
V1Xx 1% = 25mL % 0,4%

V1l=12,5mL
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